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Run 5466 quartetwise, posH(O: Beam DH
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— Laser ON Entries: 56108 Entries: 24522

- Mean: 12.9903 +- 0.0038 Mean: 1.4973 «- 0.0012

= Laser OFF Std Dev: 0.9133 +- 0.0027 | Std Dev: 0.1916 +- 0.0009
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Run 5466 quartetwise, asymOsub: Beam ON

— Laser ON Entries: 56108 Entries: 24522

— Mean: 31.7030 +- 0.1122 Mean: 0.0644 +- 0.0667

— Laser OFF Std Dev: 26,5770 +- 0.0793 | Std Dev: 104503 +- 0.0472
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Run 5466 quartetwise, negHO: Beam DIN

—— Laser ON Entries: 56108 Enfriza: 24537
Mean: 12,2839 +- 0.DD3IE

ot Dew: L8616 +/- 0.0026

Mean: 14959 «- 00012

— Laser OFF
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-------- Histogram Vars
Positive Hel (ON): 12.990285 +/- 0.003856
Negative Hel (ON): 12.283872 +/- 0.003638
Positive Hel (OFF): 1.497349 +/- 0.001224
Negative Hel (OFF): 1.495915 +/- 0.001224

-------- Sums and Diffs

On Diff: 0.706412 +/- 0.002441

Off Diff: 0.001434 +/- 0.001487
On Sum: 25.274157 +/- 0.007088
Off Sum: 2.993263 +/- 0.001945
-------- Asymmetries
On Asym: 31.704848 +/- 0.110071 (ppt)
Off Asym: 0.064368 +/- 0.066734 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.280894 +/- 0.007350
BkSub Asym: 31.640480 +/- 0.128721 (ppt)
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Run 5466 quartetwise, posHO vs time
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Run 5466 quartetwise, asym0Qsub vs time
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Run 5466 quartetwise, negHO vs time
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Run 5466 quartetwise, bcm vs time

T Nty et e I T e B et

III|III|III|III|III|III|III[I

O A L gy <10
5] 0 20 180 20

Entryh

x10"

220



